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1.(15%) Let A denote the matrix. Find the eigenvalues for A.
1 0 -2
A=]10 5 0
-2 0 4
2. (15%) Let B denote the matrix. Compute the inverse matrix of B.
—4 0 5
B=}|-3 3 5
-1 2 2

3.(15%) Solve x'" + x = sin2t with x(0) = 2, x'(0) = 1 by the Laplace transform method.

4.(15%) Solve x' + 2x = e F with x(0) =~

5. (20%)A periodic waveform x(f) with period 7=4 is defined over one period by the equation
x(t)=e™t 0=t<4

5.1 (10%) Carefully sketch x(7).

5.2 (10%) Determine the Fourier series coefficient, ai, for the above waveform x(f). Give a general formula

valid for any integer £.

6. (20%) Find the general solution of the following equations:
y{ =Y + Vo + 5cost
Y4 = 3y, — y — 5sint
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